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Capstone Problem - can we find the trigonometric
values for angles other than those on the unit circle?

Use this diagram to find:

sin 15°

Chapter 4.7 - Inverse Trigonometric Functions
-Basic Notation and Definitions

-Understanding domain and range

-Solving/simplifying inverse trig expressions

-Solving/simplifying compound expressions

What is an inverse function?

Vit = ()7 =

FU@) =1 rw) =

sin(sin~1(x)) = sin~!(sin(x)) =

Inverse trig notation:

If sin(y) =x, theny =sin™(x)

sin™'(x) is equivalent to arcsin(x)

Domain: [—1,1] Doman: [—1,1] Doma: (—os, o0)
RANGE: [7%,% Range: [0, 7] Rance: (—3,%)
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cos (sin‘1 (%)) = tan (arccos(\/?i)) =

£ sinfsin 27 -
tan(arccgs(—T) = arcsin 51117' =

2 sin(arccos(x)) =
sin (cos'1 = )
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sin(arccos(x)) =

November 02, 2019

cos(arctan(2x)) =

HW, Pg 347, #'s 5-19 odd
Pg 348, #'s 55-73 odd
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